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4|$%EMB RAxfiTERAERES 2.000] A 41,600 83,200| 41,600 83,200 0.000 0
&t 302,800 302,800 0.000 0
B fi 1.0 43y 302,800
EEAME 302,800
TS 0
dat5a (&E) EFEFE. PEITEE2E. REYMARDET4[0E




A 22 8 ) B il 3%

REBHRE

eIy
A 2816 | = 58 |BEHRES| 2816 |RILAHEEE
B4 % |RitAE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE (BEDSLDHES)
wa|EmN.] £ o i) B = |HA| H @ ; 28 | H (@ 28 B#| £ %8
2| EEHER RAxfiTERAERES 0.000] A 58,600 0| 58,600 0 0.000 0
3| XETA RAxfiTERAERES 0.830] A 51,200 42.496] 51,200 42,496 0.830| 42,496
4|$%EMB RAxfiTERAERES 1.390] A 41,600 57,824| 41,600 57,824 1.390| 57,824
5|$%EMC RAxfiTERAERES 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 RAxfiTERAERES 1.260[ A 29,000 36,540| 29,000 36,540 1.260] 36,540
22| T RAxfiTERAERES 0.000[ A 31,100 0 0 0 0.000 0
it 136,860 136,860 3.480| 136,860
B fi 1.0 KBy 136,860
EEAME 136,860
TS 0
data| (f§&) 1ZE~WN(FQ) ERIRESHY 1.0nall E20hakis 0.2 Hbin 2 02 EEIIHESE 08
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2817 | = 58 | BEERBEE| 2817 |EiLAHEEE
Bl | RAEIERE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
& [BBETEF ST 1.00ha _ 12 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = B B | & 4| Em | & %= " BR[| = %
2| EEHER RAxfiTERAERES 0.000] A 58,600 0| 58,600 0 0.000 0
3| XETA RAxfiTERAERES 0410 A 51,200 20,992| 51,200 20,992 0.000 0
4|$%EMB RAxfiTERAERES 0.710 A 41,600 29536| 41,600 29,536 0.000 0
5|$%EMC RAxfiTERAERES 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 R4 EEEREE 0.000[ A 29,000 0] 29,000 0 0.000 0
22| T RAxfiTERAERES 0.000[ A 31,100 0 0 0 0.000 0
&t 50,528 50,528 0.000 0
B i 1.0 KBy 50,528
EEAME 50,528
ZTDMRE 0

datal (f8%) ZESRA(RQD) EXEHRHY EEITHEESE 06




A 22 8 ) B il 3%

REBHRE

eIy
A 2818 | = 58 | BEERES| 2818 |RILAHEEE
B ¥ |ERETETE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
& [BBETEF ST 1.00ha _ 12 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.790] A 58,600 46,294| 58,600 46,294 0.000 0
3| XETA RAxfiTERAERES 0.000] A 51,200 0| 51,200 0 0.000 0
4|5 EMB RAxfiTERAERES 1.580 A 41,600 65,728| 41,600 65,728 0.000 0
5|$%EMC RAxfiTERAERES 1.390] A 32,800 45592| 32,800 45,592 0.000 0
6|8 R4 EEEREE 0.000[ A 29,000 0] 29,000 0 0.000 0
22| T RAxfiTERAERES 0.000[ A 31,100 0 0 0 0.000 0
&t 157,614 157,614 0.000 0
B fi 1.0 KBy 157,614
EEAME 157,614
ZTDMRE 0
datd (52) CESARQ) EHIEESHY 10nallE20haki® 02 IEMHAESE &@E 00
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2820 | = 58 |BEmRES| 2820 |HLAHEEE
B &5 |ERETEREAEE1ERL 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE (BEDSLDHES)
wa|EmN.] £ 5 o i) B = |HA| H @ 2 | B | £ % B#| £ %8

2| EEHER RAxfiTERAERES 0.000] A 58,600 0| 58,600 0 0.000 0
3| XETA RAxfiTERAERES 0.680] A 51,200 34,816| 51,200 34,816 0.000 0
4|$%EMB RAxfiTERAERES 0.680] A 41,600 28,288| 41,600 28,288 0.000 0
5|$%EMC RAxfiTERAERES 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 RAxfiTERAERES 1.090[ A 29,000 31,610 29,000 31,610 0.000 0
22| T RAxfiTERAERES 0.000[ A 31,100 0 0 0 0.000 0
&t 94,714 94,714 0.000 0

B T 1.0 KLY 94,714

EEAME 94,714

TS 0

data (%) IZESRA(RQ) BHIEHSHY




A 22 8 ) B il 3%

REBHRE

e
A 2823 | = 58 | BEmRES| 2823 |HLAHEEE
B4 | FmBREER 1-FNo e & 1.00 YR BT = =mtransen| | FRATENEBH
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B | = %8
3| HRETA R ERAERHEE 1.010] A 51,200 51,712 51,200 51,712 0.000 0
4| B0 B R ERAERHEE 1.610] A 41,600 66,976 41,600 66,976 0.000 0
5|5iEfiC R ERAERHEE 1.400] A 32,800 45920 32,800 45,920 0.000 0
6| BT & R ERAERHEE 2600 A 29,000 75,400 29,000 75,400 0.000 0
22| T RAE I ERAERHEE 2400 A 31,100 74,640 0 0 0.000 0
&t 314,648 240,008 0.000 0
B fiff 1.0 KLY 314,648
BEEAHGE 240,008
ZDMIEE 74,640
data| (&%) CE~WN(FQ@) 1.0hablE20haki® 02 IigfASt @= 00
5




A 22 8 ) B il 3%

REBHRE

eIy
FHEE 2824 | =5 58 | BRBS| 2824 |HILAHEEE
BEimA % |[HEaERER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
& [BBETEF ST 1.00ha _ 12 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
3| XETA RAxfiTERAERES 1.100 A 51,200 56,320| 51,200 56,320 0.000 0
4|3EMB RAxfiTERAERES 1.700 A 41,600 70,720 41,600 70,720 0.000 0
5|$%EMC RAxfiTERAERES 2.650] A 32,800 86,920| 32,800 86,920 0.000 0
6|8 RAxfiTERAERES 2.650] A 29,000 76,850 29,000 76,850 0.000 0
22| T RAxfiTERAERES 2400, A 31,100 74,640 0 0 0.000 0
&t 365,450 290,810 0.000 0
B i 1.0 KBy 365,450
EEAME 290,810
TS 74,640
date| (5Z) CE~R(PQD) 1.0hall E2.0haki® 02 LiglESt @& 00
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2825 | = 58 |BEERE S| 2825 |HILAHEEE
B | BEEE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
5|$%EMC RAxfiTERAERES 1.670 A 32,800 54,776| 32,800 54,776 0.000 0
6|8 RAxfiTERAERES 2.870] A 29,000 83,230| 29,000 83,230 0.000 0
&t 138,006 138,006 0.000 0
B {iff 1.0 KBy 138,006
EEAME 138,006
ZTDMRE 0
date| (5Z) CE~R(PQD) 1.0hall E2.0haki® 02 LiglESt @& 00
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2826 | = 58 |BEHmE S| 2826 |HILAHNEEE
Hm4 5 |BE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.760] A 58,600 44536] 58,600 44,536 0.000 0
4|3EMB RAxfiTERAERES 1.510] A 41,600 62,816| 41,600 62,816 0.000 0
&t 107,352 107,352 0.000 0
B fif 1.0 &Y 107,352
EEAME 107,352
ZTDMRE 0
datd (15%) CE~SA(EQ) 1.0hakl E20hakim 02 ILiEfHEE @F 00
5




= RECEE
2 2 8 Il B i 5= i
A 2828 | = 58 | BEmES| 2828 |RILAHEEE
B4 | ZREEE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
t# x5 |SRETEH WWEET 1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B & |HEfu| B M | & % | B m | & %8 " BR[| = %
4|$:EMB RAxfiTERAERES 1.610] A 41,600 66,976| 41,600 66,976 0.000 0
5|$%EMC RAxfiTERAERES 1.400[ A 32,800 45920| 32,800 45,920 0.000 0
&t 112,896 112,896 0.000 0
B fif 1.0 &Y 112,896
EEAME 112,896
ZTDMRE 0
date| (5Z) CE~R(PQD) 1.0hall E2.0haki® 02 LiglESt @& 00
5




= RECEE
2 2 8 Il B i 5= i
A 2896 | = 58 |BEHmE S| 2896 |HILAHEEE
B ¥ |ERETETE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.200] A 58,600 11,720/ 58,600 11,720 0.000 0
3| XETA RAxfiTERAERES 0.600] A 51,200 30,720| 51,200 30,720 0.000 0
4|$%EMB RAxfiTERAERES 0.800] A 41,600 33,280| 41,600 33,280 0.000 0
&t 75,720 75,720 0.000 0
B {iff 1.0 ZEHY 75,720
EEAGE 75,720
TS 0
data| (f§&) {ZE~RN(FQ)., IL)IER.HDRQ BIUF LGEKE EKE)EFETLL
5




1 'ﬁE b
= 2 1 A1) B i 3= o
A 2897 | = 58 | BEmREE| 2897 |RLAHEEE
HEm&# |(IRithEE 1-FNo e & 1.00 YR BT % =mtransen| | FRATENEBH
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B | = %8
2| F{F A R ERAERHEE 0.400[ A 58,600 23,440 58,600 23,440 0.400| 23,440
3| HRETA R ERAERHEE 0.800[ A 51,200 40,960 51,200 40,960 0.800] 40,960
4|5 EMB R ERAERHEE 1.200] A 41,600 49,920 41,600 49,920 1.200] 49,920
5|iEfiC R ERAERHEE 0.800[ A 32,800 26,240 32,800 26,240 0.800] 26,240
&t 140,560 140,560 3.200| 140,560
B i 1.0 LY 140,560
BEEAHGE 140,560
ZTDMIZE 0
data (B%) IZE5RA(HRQ), LN ER.HDARQ AWLUR LGEKEEKE)EFETHL
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2898 | = 58 | BEmES| 2898 |RILAHEEE
Bl | RAEIERE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.200] A 58,600 11,720/ 58,600 11,720 0.000 0
3| HRETA RAxfiTERAERES 0.700] A 51,200 35,840| 51,200 35,840 0.000 0
4|5 EMB RAxfiTERAERES 1.000f A 41,600 41,600 41,600 41,600 0.000 0
5|iEfiC RAxfiTERAERES 0.400| A 32,800 13,120/ 32,800 13,120 0.000 0
6|8 RAxfiTERAERES 0.300] A 29,000 8,700/ 29,000 8,700 0.000 0
&t 110,980 110,980 0.000 0
B fi 1.0 FELy 110,980
EEAME 110,980
TS 0
data (%) IZESRA(EQ)., LN LR HDARQ AIUS LGEKEEKE)EFTAHL
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2899 | = 58 | BEERES| 2899 |HILAHEEE
BB ¥ |MEERERE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE (BEDSLDHES)
wa|EmN.] £ 5 o i) B = |HA| H @ 2 | B | £ % B#| £ %8
3| XETA RAxfiTERAERES 0.900] A 51,200 46,080 51,200 46,080 0.000 0
4|3EMB RAxfiTERAERES 1.300 A 41,600 54,080| 41,600 54,080 0.000 0
5|$%EMC RAxfiTERAERES 2.300] A 32,800 75,440 32,800 75,440 0.000 0
6|8 RAxfiTERAERES 25001 A 29,000 72,500 29,000 72,500 0.000 0
&t 248,100 248,100 0.000 0
B fi 1.0 FELy 248,100
EEAGE 248,100
TS 0
data (%) IZESRA(EQ)., LN LR HDARQ AIUS LGEKEEKE)EFTAHL
5




AU LGEKE - EKEDEFRTIAL

= RECEE
2 2 8 Il B i 5= i
A 2900 | = 58 |BEmES| 2000 |HiLAHEEE
B | BEEE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
4|$:EMB RAxfiTERAERES 0.500] A 41,600 20,800| 41,600 20,800 0.000 0
5|$%EMC RAxfiTERAERES 1.200 A 32,800 39,360| 32,800 39,360 0.000 0
6|8 RAxfiTERAERES 1.400[ A 29,000 40,600 29,000 40,600 0.000 0
&t 100,760 100,760 0.000 0
B fi 1.0 FELy 100,760
EEAME 100,760
ZTDMRE 0
data| (f&&) CE~»RN(FQ). IL)ILE. FOR




A 22 8 ) B il 3%

REBHRE

eIy
A 2901 | = 58 |BEERES| 2001 |EiLAHEEE
Hm4 5 |BE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.400| A 58,600 23,440| 58,600 23,440 0.000 0
3| XETA RAxfiTERAERES 0.500] A 51,200 25,600| 51,200 25,600 0.000 0
4|5 EMB RAxfiTERAERES 0.400| A 41,600 16,640| 41,600 16,640 0.000 0
5|$%EMC RAxfiTERAERES 0.300] A 32,800 9,840| 32,800 9,840 0.000 0
&t 75,520 75,520 0.000 0
B {iff 1.0 ZEHY 75,520
EEAGE 75,520
TS 0

data (%) IZESRA(FQ), LN EA.HDA

AU LGEKE - EKEDEFRTIAL




A 22 8 ) B il 3%

REBHRE

eIy
A 2902 | = 58 | BEmRES| 2002 |ELAHEEE
B (& 5 |ERETEREAEERL 1-FNo e B 1.00 (JpA=Xiv2 s =m ez | FATESNEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %

2| EEHER RAxfiTERAERES 0.300] A 58,600 17,580| 58,600 17,580 0.000 0
3| HRETA RAxfiTERAERES 0.700] A 51,200 35,840| 51,200 35,840 0.000 0
4|5 EMB RAxfiTERAERES 1.300 A 41,600 54,080| 41,600 54,080 0.000 0
5|iEfiC RAxfiTERAERES 1.500 A 32,800 49200 32,800 49,200 0.000 0
6|8 RAxfiTERAERES 1.500 A 29,000 43,500 29,000 43,500 0.000 0
&t 200,200 200,200 0.000 0

B fi 1.0 43y 200,200

EEAME 200,200

TS 0

data (%) IZESRA(FQ), LN EA.HDA

AU LGEKE - EKEDEFRTIAL




= RECEE
2 2 8 Il B i 5= i
A 2905 | = 58 |BEmE S| 2005 |HILAHEEE
B ¥ |ERETETE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.160] A 58,600 9,376] 58,600 9,376 0.000 0
3| XETA RAxfiTERAERES 0.480] A 51,200 24576| 51,200 24,576 0.000 0
4|$%EMB RAxfiTERAERES 0.640| A 41,600 26,624| 41,600 26,624 0.000 0
&t 60,576 60,576 0.000 0
B i 1.0 ZEHY 60,576
EEAGE 60,576
TS 0
data| (&%) CESRN(E). IZNTE BUFLGEKEEKENEFEILZL EHEMBIECS
5




= RECEE
2 2 8 Il B i 5= g
A 2906 | = 58 |BEmE S| 2006 |HILAHEEE
B4 5 |RithAE 1-FNo R & 1.00 (FpA=:Rv % zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.400| A 58,600 23,440| 58,600 23,440 0.400| 23,440
3| XETA RAxfiTERAERES 0.800] A 51,200 40,960 51,200 40,960 0.800| 40,960
4|5 EMB RAxfiTERAERES 1.200 A 41,600 49.920| 41,600 49,920 1.200] 49,920
5|$%EMC RAxfiTERAERES 0.800] A 32,800 26,240| 32,800 26,240 0.800| 26,240
it 140,560 140,560 3.200| 140,560
B T 1.0 43y 140,560
EEAGE 140,560
TS 0
data (%) IZEZAR(L). INITHR AU LGEKEEKE)EFETHL
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2907 | = 58 | BEERES| 2007 |EiLAHEEE
Bl | RAEIERE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.160] A 58,600 9,376] 58,600 9,376 0.000 0
3| XETA RAxfiTERAERES 0.560] A 51,200 28,672| 51,200 28,672 0.000 0
4|5 EMB RAxfiTERAERES 0.800] A 41,600 33,280| 41,600 33,280 0.000 0
5|$%EMC RAxfiTERAERES 0.320 A 32,800 10,496/ 32,800 10,496 0.000 0
6|8 RAxfiTERAERES 0.240| A 29,000 6,960 29,000 6,960 0.000 0
&t 88,784 88,784 0.000 0
B fi 1.0 HEHY 88,784
EEAME 88,784
TS 0
data| (&%) CESRN(E). IZNTE BUFLGEKEEKENEFEILZL EHEMBIECS
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2908 | = 58 |BEmE S| 2008 |EILAHEEE
BB ¥ |MEERERE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & |REEE RS A _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
3| XETA RAxfiTERAERES 0.720 A 51,200 36,864| 51,200 36,864 0.000 0
4| B0 B RAxfiTERAERES 1.040 A 41,600 43264| 41,600 43,264 0.000 0
5|$%EMC RAxfiTERAERES 1.840 A 32,800 60,352| 32,800 60,352 0.000 0
6|8 RAxfiTERAERES 2.000] A 29,000 58,000 29,000 58,000 0.000 0
&t 198,480 198,480 0.000 0
B fi 1.0 FELy 198,480
EEAME 198,480
TS 0
data| (&%) CESRN(E). IZNTE BUFLGEKEEKENEFEILZL EHEMBIECS
5




= F‘ﬁiEEI %
2 2 8 Il B i 5= i
A 2909 | = 58 |BEmES| 2009 |HILAHEEE
B | BEEE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & |REEE RS A _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
4|$:EMB RAxfiTERAERES 0.400| A 41,600 16,640 41,600 16,640 0.000 0
5|$%EMC RAxfiTERAERES 0.960] A 32,800 31,488| 32,800 31,488 0.000 0
6|8 RAxfiTERAERES 1120 A 29,000 32,480| 29,000 32,480 0.000 0
&t 80,608 80,608 0.000 0
B i 1.0 ZEHY 80,608
EEAME 80,608
TS 0
data| (&%) CESRN(E). IZNTE BUFLGEKEEKENEFEILZL EHEMBIECS
5




A 22 8 ) B il 3%

REBHRE

eIy
A 2910 | = 58 | BEERBES| 2010 |HiLAHEEE
Hm4 5 |BE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RAxfiTERAERES 0.320 A 58,600 18,752| 58,600 18,752 0.000 0
3| XETA RAxfiTERAERES 0.400| A 51,200 20,480| 51,200 20,480 0.000 0
4|5 EMB RAxfiTERAERES 0.320 A 41,600 13,312| 41,600 13,312 0.000 0
5|$%EMC RAxfiTERAERES 0.240| A 32,800 7,872| 32,800 7,872 0.000 0
&t 60,416 60,416 0.000 0
B fi 1.0 FELy 60,416
EEAME 60,416
TS 0
data| (&%) CESRN(E). IZNTE BUFLGEKEEKENEFEILZL EHEMBIECS




A 22 8 ) B il 3%

REBHRE

eIy
A 2011 | = 58 |BEERBEE| 2011 |SiLAHEEE
B (& 5 |ERETEREAEERL 1-FNo e B 1.00 (JpA=Xiv2 s =m ez | FATESNEB
B8 RGBT LA _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %

2| EEHER RAxfiTERAERES 0.300] A 58,600 17,580| 58,600 17,580 0.000 0
3| HRETA RAxfiTERAERES 0.700] A 51,200 35,840| 51,200 35,840 0.000 0
4|5 EMB RAxfiTERAERES 1.300 A 41,600 54,080| 41,600 54,080 0.000 0
5|iEfiC RAxfiTERAERES 1.500 A 32,800 49200 32,800 49,200 0.000 0
6|8 RAxfiTERAERES 1.500 A 29,000 43,500 29,000 43,500 0.000 0
&t 200,200 200,200 0.000 0

B fi 1.0 43y 200,200

EEAME 200,200

TS 0

datal (&%) {ZE+~R(L). i) T4

BWA L GEKE-EKEDEFRIGL




= REET
T A5 B e
A 3000 | = 58 |BEEmES| 3000 |HiLAHEEE
BEmaH |BEER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & [RRIER300m _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.180] A 42,200 7,596 42,200 7,596 0.180 7,596
* 17 S e RAxfiTERAERES 0.180] A 32,400 5832| 32,400 5,832 0.180 5,832
* 18;AlEBF RAxfiTERAERES 0.000] A 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.360[ A 25,400 9,144 25,400 9,144 0.360 9,144
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 22,572 1,129 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 22,572 339 0 0 0.000 0
it 24,040 22,572 0.720] 22,572
B fi 1.0 KBy 24,040
EEAME 22,572
TS 1,468
data (&%) IZE~A(L) EREROSkmKHE 02 #iR & 00
5




A 22 8 ) B il 3%

REBHRE

OE T
A 3001 | = 58 |BEmES| 3001 |HiLAHEEE
B EERDENE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & RRIER300m _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.680] A 42,200 28,696| 42,200 28,696 0.430| 18,146
* 17 S e RAxfiTERAERES 0.790| A 32,400 25596| 32,400 25,596 0.500| 16,200
* 18[;HIZBF RAxfiTERAERES 1.010] A 31,100 31,411 31,100 31,411 1.010] 31,411
* 19[;BIEWBE RAxfiTERAERES 3.020] A 25,400 76,708 25,400 76,708 3.020] 76,708
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 162,411 8,121 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 162,411 2,436 0 0 0.000 0
it 172,968 162,411 4.960| 142,465
B fif 1.0 &Y 172,968
EEAGE 162,411
ZTDMIZE 10,557
data (&%) IZE~A(L) EREROSkmKHE 02 #iR & 00
5




A 22 8 ) B il 3%

REBHRE

OE T
&S 3002 = 58 |BEmES| 3002 |RiLAHEEE
B 5 EEHRME 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & |IRRIER300m _ 12 i NERAHE (BEDSLDNER)
wa|EmN.] £ a1 o i) 2 | B B @ 2 | B | £ % B#| £ %8
* 16 B = BB RAxfiTERAERES 0.140 A 42,200 5908| 42,200 5,908 0.000 0
* 17 S e RAxfiTERAERES 0.690] A 32,400 22,356| 32,400 22,356 0.470| 15,228
* 18[;HIZBF RAxfiTERAERES 1.370] A 31,100 42607 31,100 42607 0.940| 29,234
* 19[;BIEWBE RAxfiTERAERES 0.940[ A 25,400 23,876 25,400 23,876 0.940| 23,876
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 94,747 4,737 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 94,747 1,421 0 0.000 0
it 100,905 94,747 2.350] 68,338
B fi 1.0 KLY 100,905
BEEAHGE 94,747
TS 6,158
data (&%) IZE~A(L) EREROSkmKHE 02 #iR & 00
5




A 22 8 ) B il 3%

REBHRE

eIy
FHEE 3004 | =5 58 |BmBES| 3004 |HiLAHEEE
B |HBEmEREER e B 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & [fEETEStER : 28 NEZEANEE (HREBDSHLDIES)
wa|EmN.] £ a1 o i) Bfr| B {f 2 | B | £ % B#| £ %8
* 16| 8| S HiEm RAxfiTERAERES A 42,200 37,980| 42,200 37,980 0.750| 31,650
* 17| 8| E B RAxfiTERAERES A 32,400 44712] 32,400 44,712 0.750| 24,300
* 18I EBNF RAxfiTERAERES 31,100 42918 31,100 42918 0.750] 23,325
* 19 AEMHME RAxfiTERAERES 25,400 57,150| 25,400 57,150 2.250| 57,150
501 (M A EREEXH] |MELBEINT2EE % 182,760 9,138 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 182,760 2,741 0 0.000 0
it 194,639 182,760 4500 136,425
B i 1.0 KLY 194,639
BEEAHGE 182,760
ZTDMIZE 11,879
data (&%) IZE~A(L) EEERIOM~50mKi#E 00 #iR & 00
5




A 22 8 ) B il 3%

A 3005 | = 58 |BEmE S| 3005 |HILAHEEE
B4 % | FmRERA 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & RRIER300m _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.120 A 42,200 5,064| 42,200 5,064 0.000 0
* 17 S e RAxfiTERAERES 0.240 32,400 7,776| 32,400 7,776 0.000 0
* 18;AlEBF RAxfiTERAERES 0.000 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.000 25,400 0| 25,400 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 12,840 193 0 0 0.000 0
&t 13,033 12,840 0.000 0
B fi 1.0 KBy 13,033
EEAME 12,840
ZTDMRE 193
data| (f8%&) CEZRAE) FERIEROSkNEKF -0.2 E=#EMEMRIom -0.2
5




= REET
T A5 B e
A 3008 | = 58 |BEmE S| 3008 |HILAHEEE
BEmaH |BEER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & [RRIER150m _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |HEfu| B i | & 28| B Im | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.090] A 42,200 3,798| 42,200 3,798 0.090 3,798
* 17 S e RAxfiTERAERES 0.090] A 32,400 2,916] 32,400 2,916 0.090 2,916
* 18;AlEBF RAxfiTERAERES 0.000] A 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.180[ A 25,400 4572 25,400 4572 0.180 4,572
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 11,286 564 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 11,286 169 0 0 0.000 0
it 12,019 11,286 0.360] 11,286
B fi 1.0 KBy 12,019
EEAME 11,286
TS 733
data| (f&&) CE~RN(FQ) EREROSkmEKH 02 #K & 00
5
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A 3009 | = 58 |BEmES| 3000 |HILAHEEE
B EERDENE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & [RRIER150m _ 12 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.350] A 42,200 14,770| 42,200 14,770 0.220 9,284
* 17 S e RAxfiTERAERES 0.390] A 32,400 12,636| 32,400 12,636 0.250 8,100
* 18[;HIZBF RAxfiTERAERES 0.500[ A 31,100 15,550 31,100 15,550 0.500] 15,550
* 19[;BIEWBE RAxfiTERAERES 15101 A 25,400 38,354 25,400 38,354 1.510] 38,354
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 81,310 4,066 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 81,310 1,220 0 0 0.000 0
it 86,596 81,310 2480 71,288
B i 1.0 KLY 86,596
BEEAHGE 81,310
TS 5,286
data| (f&&) CE~RN(FQ) EREROSkmEKH 02 #K & 00
5
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REBHRE

OE T
&S 3010 = 58 |BEmES| 3010 |HiLAHEEE
B 5 EEHRME 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & RRERTS0m _ 1 & NEEAGE (BEDSLDHES)
wa|EmN.] £ a1 o i) 2 | B B @ 2 | B | £ % B#| £ %8
* 16 B = BB RAxfiTERAERES 0.070] A 42,200 2,954| 42,200 2,954 0.000 0
* 17 S e RAxfiTERAERES 0.340 A 32,400 11,016 32,400 11,016 0.230 7,452
* 18[;HIZBF RAxfiTERAERES 0.690[ A 31,100 21,459 31,100 21,459 0.470| 14,617
* 19[;BIEWBE RAxfiTERAERES 0470 A 25,400 11,938 25,400 11,938 0.470] 11,938
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 47,367 2,368 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 47,367 711 0 0.000 0
it 50,446 47,367 1.170] 34,007
B fi 1.0 KLY 50,446
EEAGE 47,367
ZTDMIZE 3,079
data| (f&&) CE~RN(FQ) EREROSkmEKH 02 #K & 00
5
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2 2 8 Il B i 5= g
A 3012 | = 58 |BEERES| 3012 |SiLAHEEE
B |HBEmEREER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
I -l -1 AR _ # 8 NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |HEfu| B i | & 28| B Im | & %8 " BR[| = %
* 16| 8| S HiEm RAxfiTERAERES 0.250] A 42,200 10,550| 42,200 10,550 0.200 8,440
* 17| 8| E B RAxfiTERAERES 0410 A 32,400 13,284 32,400 13,284 0.200 6,480
* 18I EBNF RAxfiTERAERES 0410 A 31,100 12,751 31,100 12,751 0.200 6,220
* 19[;BIEWBE RAxfiTERAERES 0.600[ A 25,400 15,240 25,400 15,240 0.600] 15,240
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 51,825 2,591 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 51,825 777 0 0 0.000 0
it 55,193 51,825 1.200] 36,380
B i 1.0 KLY 55,193
EEAME 51,825
TS 3,368
data| (f§&) {ZE~N(FQ) HEERERIOM~50mKHE 0.0 i 5 -0.2
5




A 22 8 ) B il 3%

A 3013 | = 58 |BEmES| 3013 |EiLAHEEE
B4 % | FmRERA 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & RRERTS0m _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.120 A 42,200 5,064| 42,200 5,064 0.000 0
* 17 S e RAxfiTERAERES 0.240 32,400 7,776| 32,400 7,776 0.000 0
* 18;AlEBF RAxfiTERAERES 0.000 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.000 25,400 0| 25,400 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 12,840 193 0 0 0.000 0
&t 13,033 12,840 0.000 0
B fi 1.0 KBy 13,033
EEAGE 12,840
ZTDMRE 193
dat5a BE) CE-AEQ) EREROSkNEKR 0.2 HF=fEEfmiom -0.2
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A 3017 | = 58 |BEEREE| 3017 |HiLAHEEE
BEmaH |BEER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & IS ETR1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 1.000f A 42,200 42200 42,200 42,200 1.000] 42,200
* 17 S e RAxfiTERAERES 1.000 32,400 32,400| 32,400 32,400 1.000] 32,400
* 18;AlEBF RAxfiTERAERES 0.000 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 2.000 25,400 50,800/ 25,400 50,800 2.000/ 50,800
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 125,400 6,270 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 125,400 1,881 0 0 0.000 0
it 133,551 125,400 4.000] 125,400
B fi 1.0 KBy 133,551
EEAGE 125,400
ZTDMIZE 8,151
datd (&%) CE&A(RQ) ILEERE1.0hall E2.0naki®E 00 BRIEGEFTRI~2ERT -02 X 2 0.2
5
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REBHRE
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A 3018 | = 58 | BEERES| 3018 |RiLAHEEE
B4 F ZEEUETmEANE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & IS ETR1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.800] A 42,200 33,760| 42,200 33,760 0.000 0
* 17 S e RAxfiTERAERES 3.700 32,400 119,880/ 32,400 119,880 2.500| 81,000
* 18I EBNF RAxfiTERAERES 3.700 31,100 115,070 31,100 115,070 2.500 77,750
* 19 B2 E R4 EEEREE 7.500 25,400 190,500| 25,400 190,500 7.500| 190,500
501 (M A EREEXH] |MELBEINT2EE 5.000] % 459,210 22,961 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 459,210 6,888 0 0 0.000 0
it 489,059 459,210 12,500 349,250
B i 1.0 KBy 489,059
EEAGE 459,210
ZTDMIZE 29,849
datd (&%) CE&A(RQ) ILEERE1.0hall E2.0naki®E 00 BRIEGEFTRI~2ERT -02 X 2 0.2
5
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REBHRE

eIy
A 3019 | = 58 |BEmES| 3019 |HiLAHEEE
BT |1Z2E 1LAS MR e B 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
¥ & |IUEETE1.00ha % 28 NEZEANEE (HREBDSHLDIES)
wa|EmN.] £ a1 o i) Hfr | B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm RAxfiTERAERES A 42,200 10,128 42,200 10,128 0.000 0
* 17| 8| E B RAxfiTERAERES A 32,400 62,208| 32,400 62,208 1.440| 46,656
* 18I EBNF RAxfiTERAERES A 31,100 108,228| 31,100 108,228 2.880| 89,568
* 19 AEMHME RAxfiTERAERES A 25,400 80,518| 25,400 80,518 3.170| 80,518
501 (M A EREEXH] |MELBEINT2EE % 261,082 13,054 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 261,082 3,916 0 0 0.000 0
it 278,052 261,082 7.490| 216,742
B fif 1.0 &Y 278,052
BEEAHGE 261,082
TS 16,970
data (f&&) CE~RN(FQ) #hik # 02
5
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REBHRE

eIy
&S 3020 = 58 |BEmES| 3020 |HiLAHEEE
& 5 (122 LSRRI = R & 1.00 YR BT = zmrmausgr| | BATENEB
¥ 5 [fEETEGHERT % %8 NEZEANEE (HREBDSHLDIES)
wa|EmN.] £ a1 o i) Bfr| B {f 2 | B | £ % B#| £ %8
* 16| 8| S HiEm RAxfiTERAERES A 42,200 55,704| 42,200 55,704 1.320] 55,704
* 17| 8| E B RAxfiTERAERES A 32,400 60,264| 32,400 60,264 1.320] 42,768
* 18I EBNF RAxfiTERAERES 31,100 98,898/ 31,100 98,898 2.640| 82,104
* 19 AEMHME RAxfiTERAERES 25,400 67,056| 25,400 67,056 2.640| 67,056
501 (M A EREEXH] |MELBEINT2EE % 281,922 14,096 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 281,922 4,229 0 0.000 0
it 300,247 281,922 7.920| 247,632
B i 1.0 KLY 300,247
BEEAHGE 281,922
TS 18,325
date| (&%) ZE~R(RQ) ILEEMERSOmEKR 0.1 #iik 2 0.2
5
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&qﬁm
A 3022 | = 58 |BEERES| 3022 |EiLAHEEE
B4 % | FmRERB 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & IS ETR1.00ha _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.560] A 42,200 23,632| 42,200 23,632 0.000 0
* 17 S e RAxfiTERAERES 1.120 32,400 36,288| 32,400 36,288 0.000 0
* 18;AlEBF RAxfiTERAERES 0.000 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.000 25,400 0| 25,400 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 59,920 899 0 0 0.000 0
&t 60,819 59,920 0.000 0
B i 1.0 KBy 60,819
EEAGE 99,920
ZTDMRE 899
date| (f&Z) ZE~R(RQ) IWEETR1.0hallt 04 HE5#EMMRSm 0.0
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FHEE 3024 | =5 58 | BmRBES| 3024 |HiLAHEEE
BEmaH |BEER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & [RRIER300m _ # i NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.180] A 42,200 7,596 42,200 7,596 0.180 7,596
* 17 S e RAxfiTERAERES 0.180] A 32,400 5832| 32,400 5,832 0.180 5,832
* 18;AlEBF RAxfiTERAERES 0.000] A 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.360[ A 25,400 9,144 25,400 9,144 0.360 9,144
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 22,572 1,129 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 22,572 339 0 0 0.000 0
it 24,040 22,572 0.720] 22,572
B fi 1.0 KBy 24,040
BEEAHGE 22,572
TS 1,468
data (&%) iLJI| E£& EREROSkmRKFE 0.2 R & 00
5




A 22 8 ) B il 3%

REBHRE

OE T
A 3025 | = 58 |BEmES| 3025 |EiLAHEEE
B EERDENE 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & RRIER300m _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.680] A 42,200 28,696| 42,200 28,696 0.430| 18,146
* 17 S e RAxfiTERAERES 0.790| A 32,400 25596| 32,400 25,596 0.500| 16,200
* 18[;HIZBF RAxfiTERAERES 1.010] A 31,100 31,411 31,100 31,411 1.010] 31,411
* 19[;BIEWBE RAxfiTERAERES 3.020] A 25,400 76,708 25,400 76,708 3.020] 76,708
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 162,411 8,121 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 162,411 2,436 0 0 0.000 0
it 172,968 162,411 4.960| 142,465
B fif 1.0 &Y 172,968
EEAGE 162,411
ZTDMIZE 10,557
data (&%) iLJI| E£& EREROSkmRKFE 0.2 R & 00
5
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REBHRE

OE T
&S 3026 = 58 |BEmES| 3026 |EiLAHEEE
B 5 EEHRME 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & |IRRIER300m _ 12 i NERAHE (BEDSLDNER)
wE|wBmN.| £ a1 o i) = B 2 | B | £ % B#| £ %8
* 16 B = BB RAxfiTERAERES 0.140 A 42,200 5908| 42,200 5,908 0.000 0
* 17 S e RAxfiTERAERES 0.690] A 32,400 22,356| 32,400 22,356 0.470| 15,228
* 18[;HIZBF RAxfiTERAERES 1.370 31,100 42607 31,100 42607 0.940| 29,234
* 19[;BIEWBE RAxfiTERAERES 0.940 25,400 23,876 25,400 23,876 0.940| 23,876
501 (M A EREEXH] |MELBEINT2EE 5.000 94,747 4,737 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500 94,747 1,421 0 0.000 0
it 100,905 94,747 2.350] 68,338
B fi 1.0 KLY 100,905
BEEAHGE 94,747
TS 6,158
data (&%) iLJI| E£& EREROSkmRKFE 0.2 R & 00
5
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REBHRE

eIy
&S 3028 = 58 | BEmES| 3028 |RLAHEEE
B |HBEmEREER e B 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
B & AT tER % %8 NEZEANEE (HREBDSHLDIES)
wa|EmN.] £ a1 o i) Bfr| B {f 2 | B | £ % B#| £ %8
* 16| 8| S HiEm RAxfiTERAERES A 42,200 12,660 42,200 12,660 0.250| 10,550
* 17| 8| E B RAxfiTERAERES A 32,400 14,904| 32,400 14,904 0.250 8,100
* 18I EBNF RAxfiTERAERES 31,100 14,306] 31,100 14,306 0.250 7,775
* 19 AEMHME RAxfiTERAERES 25,400 19,050/ 25,400 19,050 0.750| 19,050
501 (M A EREEXH] |MELBEINT2EE % 60,920 3,046 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 60,920 914 0 0.000 0
it 64,880 60,920 1.500| 45475
B i 1.0 KLY 64,880
EEAGE 60,920
ZTDMIZE 3,960
datd (&%) )| E& fEBTZER30Mm~50mkiE 00 % & 00
5
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&q‘ﬁw
A 3029 | = 58 |BEmES| 3029 |EiLAHEEE
B4 % | FmRERA 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & RRIER300m _ 1 & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 0.120 A 42,200 5,064| 42,200 5,064 0.000 0
* 17 S e RAxfiTERAERES 0.240 32,400 7,776| 32,400 7,776 0.000 0
* 18;AlEBF RAxfiTERAERES 0.000 31,100 0| 31,100 0 0.000 0
* 19[;BIEWBE RAxfiTERAERES 0.000 25,400 0| 25,400 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 12,840 193 0 0 0.000 0
&t 13,033 12,840 0.000 0
B fi 1.0 KBy 13,033
EEAME 12,840
ZTDMRE 193
data| (&%) M) ER EREROSkNEKE 02 ZH=fREFmI0m -0.2
5




S 1 ) B A e
A 3032 | = 58 |BEmES| 3032 |RiLAHEEE
BEmaH |BEER 1-FNo R & 1.00 (FpA=:Rv = zmrmausgr| | BATENEB
# & |RRIER200m _ 12 i NERAHE B o= ||[EEDLONES
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